MODEL PRACTL

;

ENGLISHLANGUAGE

Directions (1-10) : Read the
following passage carefully and an-
swer the questions given helow it.
Some words are given In bold to help
you locate them while answering
gsome of the questions.

One day Emperor Sultan was

taking a walk in the Royal Garden,
when he accidently stumbled upon
a small rock. He was in a very bad
mood that day. He summoned the
gardener and sentenced him to
death for not having removed the
stone. The poor gardener was dis-
traught at receiving such a haroh
sentence, He pleaded with the Em-
peror, but Sultan was adamant. So
the gardener ran to Badelal in de-
epalr and begged him to find a way
to save his life. The gardencr told
Badelal the entire story. Badelal
wondered how he could help the
poor gardener. He pondered for a
while and finaily thought of a way.
He told the gardener not to worry
and then whispered some Instruc-
tions in his ear.

The next day, the Emperor Sul-

tan was walking in his royal gar-
den. The pardener came up to the
Emperor and spat at his feetl The
Emperor was shocked at him. He
was furious to see the same gardener
comunit such an act of disrespect.
Just then Badelal walked up to the
Emperor. Sultan was even more sur-
prised to discover that Badelal had
instructed the gardener to spit on
his feet. Seeing that the Emperor
was furious, Badelal then explained
to him as to why the gardener had
done such a deed. He told the em-
peror that the gardener was one of
the most loyal subjects who served
the king. And 1t would have been
shame on the Emperor's part for
sentencing a man to death for such
4 petty reason as forgetting to re-
move a small rock. And therefore,

—_——ee——

Badelal had asked the gardener to
spit at Sultan's feet. That was a vile
offence and would give Emperor
Sultan a genuine reason to sentence
him to death. The Emperor was
stunned by the whole incident and
he instantly realised his mistake
and forgave the gardener.

1. Which of the following is most
nearly the SAME in meaning
to the word ‘STUMBLED’ as
used in the story?

(1) fell (2) plundered
{3) broke {4) hesitated
(5) lost

2. As menticned in the story,
Emperor Sultan sentenced the
gardener {o death because
(1} the gardener was not wa-

tering the plants in the gar-
den.

{2Z) he thought that the gar-
dener had failed to report
to duty that day.

(3) he wanted to punish him
for misbehaving with
Badelal a few days back.

(4) the gardener spit on his feet
in front of all the royal
courtiers.

(5) None of the given options.

3. Whieh of the f ¢an be

a suitable title to the story?

(1) Emperor Sultan and his
favourite gardener

(2) Badelal and his friendship
with the gardener

{(3) TheMischievous Gardener

(4) Badelal and his Intelli-
gence

(5) Be Careful while trying
Traps for Others

4. As mentioned in the story,

Emperor Sultan was in 2 bad |-

mood before stumbling upon
the rock because

{1) he had a bad dream.,
(2) he was not feeling well.

(3) he had fought with Badelal
{4} he was angry with the
royal cook, for not prepar-
ing his favourite n_leal.
(5) Not clearly mentioned in
the passage. ch
B. Which of the following is most
nearly the OPPOSITE in mean-
ing to the word ‘DESPAIR’ as
used in the story?
(1) trust (2) wmisery
(3) cheer
(4) desperation
(5) secret .
Which of the following at-
tribute of Emperor Sulian gets
highlighted i the story?
(1) unreasonable but just
{2) depressed
(3) thoughtful
(4} ill-tempered and Tude
(5) confident
7. Which of the following is most
nearly the SAME in meaning
to the word ‘HARSH' as used

in the story?

(1) severa ([2) soft
(3) weak  (4) loud
{B) uneven y

8. As mentioned in the story,
Badelal directed the gardener
to spit on Emperor Sultan's
feet as :
{A} he wanted Emperor Sultan to
Punish the gardener severely.
(B} he wanted to make Emperor
Sultan realise his mistake.
(C) he was trying to play a prank
on the gardener, -
(1) Onlya ¢ B
(3) Both A and B only
(4} Both A and C
(® OnlyC

9. Which of the foliowing state-

i -l mak s

ments Is true id the context of _

the story?

(1) Emperor Suitan punished '

both the gardener and

Badelal when the gardenet .

spat on his feet,
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{2} Emperor Sultan had de-

cided to punish the gar-
" dener even before he came
acress the rock fn the gar-
den.
[3} Badelal was Emperor
- Sultan's nephew,
{4 The Gardener would ugu-
- ally seek Badelal's advice
.+ on all matters,
(5} None of the given options
is true.
10. Which of the following is most
nearly the OFPOSITE in mean-
- ing to the word 'ADAMANT as
used in the story?
(1) firm (2) flexible
(3) creative (4) rvigid
{5) unflxed -
Directions (11-1%5)
range the following sentences (A),
[B); (C). (D}, (E) and (F) to make a

‘meaningful paragraph and then

answer the questions which follow :

(A) All this should be in the mind
and heart of the teacher, and
if it is in his mind and heart
he will convey it in his teach-
ing to the young who are in his
care,

{B) He will seek rather to discover
and remove the impersonal
causes of evil than to hate the
men who are in its grip,

(C) The Civilized man, where he
cannet admire, will aim rath-
er at understanding than at
reprobating,

[0} These me have done what lay
in their power to make human
life a better thing than the bricf
turbulence of savages.

[€) These men have produced
semething of positive good to
outweigh the long record of
truelty, oppression and super-
Stition, .

1. Which of the foliowing sen-
tences should be the FIRST
cntence after the rearrange-
ment 7
Ha
Bc
Se

() B
R

: Rear-

2. Which of the following sen-
tences should be the SECOND
sentence after the rearrange-
ment ?
(A
@c
B E

13. Which of the following sen-

tences should be the LAST sen-

tence after the rearrangement 7

(a (2) B

3iC (4 D

(B) E

Which of the following sen-

tences shouid be the THIRD

sentence after the rearrange-

2B
@D

14

-

ment ?
VA ) B
@c 4D
B) E
18. Which of the following sen-
tences should be the FOURTH
sentence after the rearrange-
ment?
(11 A @ B
3} cC {4) D
B E

Directions (16-20) : Read

‘each sentence to find cut whether

there is any grammatical error or
idiomatic error in it. The error, if
any, will be in gne part of the sen-
tence. The number of that part i1s
the answer. If there is *‘No error’ the
answer is (9). (Ignore errors of punc-
tuation if any)

18. Arguments usually follow (1)/
the pattern; that Is, {2)/ there
are certain things (8) / we typ-
1cal do and do not do in argu-
ing.{4)/ No extor (5)

17, Time is za limited resource
that (1}/ we used to accom-
plish bur poals (2)/ becaunse of
the way that the concept of
work (3)/ has developed in
modern culiure.(4)/ No error
)]

18, What this imply e that the
(1)/ universe is somehow In-
kerently simple (2)/ an idea
that gives uicers to some phi-
losophers and {3)/ pay pack-
ata to all.(4)/ No error (5}

19, Free trade {3 fine for ¢conom-
ics (1)/ departments and news-

paper editorials {2)/, but no-
body in the corporate world of
the governmert (3)/ took the
doctrines serfons.(4}/ No er-
rar {3)

20, Theideological differences, (1)/
ideals and faithe are (2}/ the
toots of a division (3)/ that is
preventing human survival.
[4)/ No error (5}

Directions (21-25) : In the fol-
lowing questions, a sentence/part
of the sentence is printed in bold.
Below are given alternatives to the
bold sentence /part of the sentence
at (1), {2} {3) and (4) which may Im-
prove the sentence. Choose the cor-
-rect alternative. In case no improve-
ment is needed, your answer is (5).

21, The larger question is whether
the bill was not necessarily
at all.

(1) was not necessary at all

" (2] was not necessary for all
(3) was not necessarily for all
(4] is not necessary for all
(5) No Correction required

22, India is a hub of social enfre-
preneurship activity and a
testing ground in salahle , in-
novation and inclusive busi-
ness model.

(1) in salable, inovative and
inclusive business model

(2] for salable, Innovative and
inclusive business model

(3) for sale, innovation and
inclusive business modet

{4) for sale, iInmovative and m-
clusion business modet

{5] No Correction required

23. The government began to lib-
eralise the economy exposing
local business to market
forces for the firet time.

(1) local business for market-
ing forces

{2} local businesa to merke
forces for the first time

{3) locality business to market
forces of the first time

(4} Jocal business to market
‘forces in first Hme

{5) No Correction required
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24, There may be special arcas | ling inflation .Most people ‘::“olm NUMERICALABIL"Y] é m
however, in which he is supe- | that prices can be casily conl P o pt
often psycholegically | by the government, {38l inacoun- | 31, A, B and C, each working | pert
Hority try of 1.2 billion people there are mil- alorie, can finish a prefect ig | ¢t
insight wag one. o who are setting pric- 42 days, 28 days and 48 days iy
(1) superior oftenly psychclog- | Lions of peaple tvely. A started the
Yi ernment can and ought respectively ash
ical insight is one es .Yes, gov t by working alone for 7
to do more to check inflation. But projec . . was
(2) superior oflen peychological even more importantly it should get days and t:dena? to:lfto:v:rd from : (n
oo | T o oo e e | ABpSsm |
(3) supertority often psye " | tirely possible to achieve within two In how many days C will fin. | (5}
ical insight ia one years from now Well, a large num- ish the remaining work? ' pire
(4] superiority oftenly paycho- ber of jobs will be created in the [30] 35 2) 28 i me in’
logical insight is one sector. It's not that cvery job will (1) 4), 24 i c?ci {n eac
{5 No Correction required have to be created in the formal (3) 32 ’ ] (mes‘?
28. Biclogists galn a visual cue | sector Having said that, jobs is a big ) 21 red I 335' 12 -
that will help them under- | challenge and also a potental for | 82. Rs. 7.200 was paiéﬂ}' iﬂmand_ T me
standing in detall that genes | progrecs in scheme ‘A ‘°‘fB, o | )8
tell different cells about their | 5g " () occuring partly in Scheme ‘B’ for c)'rears. i ©) 8
Gt ' Do e schenoerdan | O3
(1] that will help them under- (2} occurred D O atares: aoneued from | (10
stand In detail how genes (3) caused A 2nd 'B", at the end of their | 310
(2) that helped them under- (4) been causing respective investment period | (60
stand In detail how genea {5} happen was Rs. 4008, How much was |  gg,7
(3] that should help themun- | 27, (1) worry  (2) worrled nvested In scheme ‘A'? 1
derstand in detall that genes (3) wortying  {4) satisfied (1) Rs.4750 - 31
(4] that will help them under- {2) Rs.5450 51
(5) sauisfying
ateed in detall how genes 26, (1) b (2) blame {3) Rs.5850 39. 11
{5) No Corrcction required ' larned {4) Rs.4600 (1) €
Directions (26~ 30):1n the (3) praised (4] satisfy 5) Rs.5250 (3)
following passage there are blanks, 3) satisfied 88. There is a circular piot of-ra- (5) 3
cach of which has been numbered. | 28, (1) that (2} but dius 21 metres. A circular 40, 12
These numbcers are printed below the 3) if (4) for seating space is constructed at ()1
passage and against each, five words (5) 28 well as the centre of the plot at the 3) %
are suggested. one of which fits the total cost of Rs. 231 at Rs. 6 ©) 1
blank appropriately. Find out the | 30. (1) informity per square metre. What is the |
appropriate word In each case. (2} informal area of the remaining of il Dh
Inflation has [26) in nations (3) informative the circular plot? (In sq. metre} m‘r?“
at early otages of development. Be- (4) information 1) 1245  (2) 1574.95 ®
tween 2003 and 2011, India was 5 fo tion {3} 1806875 (4) 13475 41. ﬁ
growing at an average of 8%, From p - {5) 1386 w
. 2008, inflation was close to 10%. 84. A train running at an average
: fts figures were not very different Boo MAGAZINES n 14 seconds, How much time (5!
| What is {27] over the last year and S AND will a man take to cross the 42, 3;
f a half ts that growth has slumped of Kiran Prakashan same stationary traln, when 1
i ta between 4.5 and 5%. And that 1s Get book he is cycling af a speed of 7 )
hi what is making the Inflation more e 0(3 § kmph (in seconds) {3)
it painful. On inflation, in fairness to and magazines of (1) 102 2 12 )
government, let me point out that iran Prakashan 3 126 4)- 108 : .
' while people (28] the government, Ki d ¢ a il (5) 9% ! 43, 5.
CF the blame has to be shared by eco- | [ 2t your doorstep €asily, | | as. A, B and C fvested n a busi- ¢
. nomics as-a discipline .We know a log on our website : " mess for diffcrent periods of
rates, check fiscal deficit - about www.kliranprakashan.com 18,000, B invested Rs. 15,000 ©
! controlling inflation. but we don’t : and C invested Rs. 12,000. A :
have a sure-fire methed for control- | \___ J invested for a period which wes - ©)
|
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" #1.5times the period for which SET-03
. B invested and C tnvested for 44 (0.9%8 x (0095 = 310 x 107 16 kg of second variety are
a which was hwice the = 3"x10 mixed together. At what rat
od for whic (1) 65 @ -75 ate
period for h B invested. If per kg should the mixture be
Pt the end of the year, B re- 3 55 (4) -5.5 sold so that the seller gets a
. gelved an amount of Rs. 2725 {6) -6.5 profit of 20% on the whole
a5 his share 1n the profit, what | 48. 3.5x 3.5+ 85x5.5x2+5 transaction ?
B3 C's share in the profit? a5 Bx2+5.5x% (1) Rs. 40,32 [2)Rs. 42.3
(1) Rs.4400 (2) Rs.4120 o7 (3 Rs 45.50 {4} Rs. 40.6(8)
(3) Rs.4560 (4} Rs.4280 :;: gl :i; 855 (5} No;le c;f these o
- {8 Rs. 4360 1205
tions (36- 40) sWhatwan | . O 121 o ifﬁfié’sﬁ?nﬁﬁbiﬁd 3333
qme 0 ghlacfe til:lf the question mark 46, The total price of & shirts and sons and a daughter. His wife
p in cach © ¢ following number 7 trousers is Rs. 4130 while . got 40% of the total savings.
5‘“5?. that of 4 shirts and 9 trousers His two sons gét 55% of the
96,1218 38 90 270 7 18 Rs, 4270. Find out the price remaining amount. His
(HMS (2) 960 of 3 shirts. " daughter received the remain-
{g{ g (4) 860 (1)Rs.850 (2)Rs. 840 ing Rs. 124200, What was the
{ (3} Rs.860 (4) Rs. 810 total amount received by his
47,4006 2048 512 64 4 7 (B) None of these wife and two sons ?
(1025 2) 0,125 47. Astarts a business with an in- {1) Rs, 325800
{308 (4) 0.75 vestment of Rs. 13600. After; {2) Rs. 335800
(5)0.373 . four months B and C join the {3) Rs. 333800
@7 8 20 69 292 7 parinership with investments (4) Rs 345800
{1) 1285 (2) 1458 of Rs. 17600 and Rs. 15200 N
31485 (4) 1385 repectively. The total profit at [5) None of these
(5) 1358 the end of one year is Rs, 52. The square of a number is 48
w1l 16 23 32 43 ? 46580. Find C's share in the more than 22 times of itself.
(1166 (2] 48 -profit. Find ﬂletnmnber.
3152 (4) 56 (2) Rs. 16300 (2) Rs. 13200 (1)25° (2)22
(5) 72 (3) Rs. 13300 (4} Rs. 13800 324 (4)28
@ 2 39 66 102 ? (5) None of these {5)29
mMz (2145 : 48. A boat rows downstream and | 83. The erca of a square is twice
(@) 247 (4) 157 covers 12,6 km in 18 minutes to that of a rectangle. The
(5 147 and £.25 km upstream in 15 length of rectangle is 4 em |
minutes. Find the speed of cur- than 24 ¢cm long si g
” Directions (41 = 45) : What |~ rent. What will b:ntﬁsxde of square.
come in pl - € eter of
agilt | Do masew | ferdege
. (S}4kmph  {4) 4.3 kmph (1)88.8cm  (2)86.8cm
V289-264+16x2- 87 =9 (5) None of these (3)88.8cm (4)87.8cm
(1) 18 @ 15 49, The simple interest on a sum (5) None of these
@) 13 4) 14 9 ' B54. Two pipes A
[5) 20 @ is 57 of the principal. What Wthpaptank.ag:ll!if E‘Zﬁ“ﬁﬁ
2,336+ 14 A Mllbetherateoflntérest 3
. X056 +0.76 = 72 per =
16 2 06 armum #f the numerical value = th of the tank tn 27 hours
ar \ of rate of interest is egual to
] 0.14 4) 1.4 the time period in years ? while pipe B can fill the empty
5) 18 (1) 7.59% per annum ‘Iink :Ompletely in 30 hours,
4, 51,52 .3 (2) 8% perannum pipz; :;t tltme will the both
5 x2-§+ 5-,3 =7 {3} 7% per annuin tank m,felhf T M the empty
1 (4) €% per annum (1) 16 hmpn: =y
- B 80. Two varietles of rice are avail- = ours (4) 20 hours
_ 8 . 4) 20 able the first variety at therate | gn (6] None of these
2l of Rs. 30 per kg and the sec. | Do o osel contains 80 liters of
12 ond at the rate of Rs. 38 per milk. 16 litres of milk is tak.
kg. 10 kg of first variety and en out and 16 litres of watey
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iz added. Again 18 litres of

plot 18 160 metre. The rate of
construction of 3 metre wide
path inside the plot is Rs.
32,50 per sq. metre, What will
be the total cost of construc-
tion of path ?
(1) 5. 14430 {2) Rs. 14220
(3) Ras. 15430 (4) Rs. 14440
{5) None of these
89. Adis twice as good 4 worlt man
as B. A and B together com-
plete a plece of work in 28
days. In how many days will A
alone do the same pisce of
work 7
(D40days (2)42days
{3)35days (4) 36days
(5) Nome of these
60. A and B tdgether have a sum
of Ra. 1680. Half of the total
7
ot
part of total amount with B.
Find the total sum with B.
{1)Rs. 1260 {2)Rs.600
(3)Rs. 1200 [4)Rs. 1180
(3) None of these

amount is equal to the

Directions (61 - 88) : Study the

'gﬁ“ MODEL PRACTICE SEl'-oa‘
Wﬁ———ﬁ
REASONING ABILITY :

mmixture is taken out and wa- following table carefully and answer

ter 1 added In same amount, the questions given bell‘;:l::'d by B

What is the respective ratio of | Number of books pub! T

milk and water in the resuit- | different publishers during

ing mixture ? plx years {In thousands)

(113:4 2)9:16 Publehers| F [ @ | R | S| T

818:9  (4)4:3 Years _

(5) None of these 2005 |s82| a70] 375 420{425
B6. In a class the average weight | (2006 [352| 310] 325| 390{375

of 32 students 1s 48.5 kg, 10 | [5557  [a12] 420| 425]280]275

new students join the class | [ 007 ™ HzgTog5] 280 510{475

a;}:nh&n c:ht::le a:::l-age Wigll:; 2009 aoal 280] 315 326]a78

o 1] L §1 nerease -

7.5 kg. Find the average | [2010  [955] 360| 340 377|410

weight of 10 new students. | 1. Thedifference betwt;en the 2\;]

(1) 82 ke @) 75%g erage number (in thousan

(3) 80 kg (4) 70kg of books publshed by all the

(5) Nonie of these publishers in the years 2005
B7. A 300 metre long train crosses and 2008 is (rounded off to the

" a person nmnnitglg at the rate nearest integes)-

of 7 kenph in the direction op- (H70 )72

postte to that of tratn in 36 sec- (3 74 @7

onda. Find the speed of trin. (5) 80

{(1Y23m/sec {2}25m/sec 62, The respective ratio between

{3) 27/ /sec {4)28m/=ec the number of beoks pulished

{5) None of these by publishers ¢ and Rin 2005

The perimeter of a rectangular ;ﬂ; g:)altobi}; publishers P and

(1)114:113 (2)149:139
(3)119:110 (4)139:149
(5} None of these
. The average number (in thou-
sands) of books published by
publisher Q taking all the
years together is
(1) 320 (2) 329
(3839 ° (@39,
(5} None of these
Which publishter did publish
the maximvm number of
books taking all the years to-
gether ?
e
©BQ
(5)s
The differenge between the to-
tal nurnber of books published
by publishers S and T taking alt
the years together is
{1} 36 thousand
(2) 32 thousand
(3) 40 thousand
(4) 36.5 thousand

)T
4R

68,

(5) None of these

—‘——;———“ﬁ—lla—
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Directions (66-70) : In these
questiona, relationships betw¢m|
different elements is shown i the
staternents, These Eta:ments are

pwed by two conclusions.

foll mvebymwer {1) if only con.

1 follows.
dus‘méve answer (2) if only con. |
1 follows.

cluslonm answer (3} if either con-

clusion I or conclusion 11 follows.

Give answer (4) if nelther con-
cluston I nor conclusion It follows,

Glve answer (B) if both con-
clusions 1 arid 1 follow.

66. Statement @
M=A<NgP=RgX
Coanclusions ;

L. M=eX

I X>M

67. Statements :

V<iaCzT: Rzl

Cconclusions :

L. R>V

IL. T<R

68. Statement !
D>E>C=M>B<R=G
Conclusions !

L D>B

I G~E

69, Statement :
CaO<R<PF>T
Conclusions ;

I. C«T !

nLP>C :

70. Statement : ‘
WeA>T=E<R<D |
Conclusions : ‘
L ReW |
L A>D ‘

Directions (71-75) : In each
of the following questions, two/
three statements followed by two |
conchusions numbered I and I have |
been given. You have to take the giv- |
en statements to be true even ifthey -
seem to be at variance from the '

commonly known facts and then .

decide which of the given conclu- i

2:_:“8 logtt:aduy follows ﬁ'um given .

temen i
kriown facts. sregarding commonly

(1) Both Conclusions [ and I -
follow '

{2) Netther Coticlusion I nor It .
follows

tio

Sa
Nc¢
Ce
1.
I
de
81
S
&
C
1.
n

&

// -mnmunﬂﬂffbriggﬂﬂ
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ﬁther Conctusion [ or It
W(‘: Only Conclusion 1 follows
{B) Only Conclusion H follows

1. All instructons are nales.
O. Al manuals are instruc-
tiona. '
78, Statements :
Some cards are papers.
All papers are books,
No hook 18 a novel,
Conclusions :
I. Atleast some cards are
hooks.
II. Nonovel is a paper.
74. Statements :
Some doors are windows.
No window is a cabinet.
Conclnslonsg :
1. No cabmet is a door-
IL. Atleast some cabinets are
doors,
™, Statements :
Some bulbs are lights.
Some lights are fans.
Conclusions :
L Some fans are definitely
not bulhs, '
U, All buibs are fans.
; Directions (76-80) : Study the
mt""’“gSvll'l‘emgementt.:ﬂ:'eful]j!' and
Mwer the questions below :

QLaBHIWR25&78D3649.

% AMOFBETHSKX®@7
* How many such leiters are
there 1n the ahove arrange-
Tent, each of which ts imme-
preceded by a number
and immediately followed by 2

7
{1) None - (2) One
WTwe @) Three
{5} More than three

77. Which of the following is the
seventh to the leR of the fif-
teenth from the left end of the
above arrangement 7
)% @

)5 @rR
B

78. What should come next in the
following series based on the
above arrangement ? -
7kH KB TFM FAL ¢
(1} AaQ# (2] #06
(B} LD (1) g6?

{5) @it

79. Four of the following five are
alike in 2 certain way based on
their position in the above ar-
rangement and so form a
group. Which is the cne that

does not belong to that group?
1)wW?9 {2) 2DL
(3)$9© 4) R&Q
(6) Lex

80. I all the munbers are dropped
from the above ent,
which of the following will be the
eleventh from the right end ?
()M 2%
B @A
®GL

Directions (81-83) : These
questions are based on the follow-
ing set of numbers :

165 346 583 724 637

81. if in each pumber all the dig-
its are arranged in as

order from left to right and the

numnbers thus formed are ar-

ranged in ascending from the
left to right, which number
will come in the middle ?

(1) 583 2) 724

(3) 346 (4) 637

(5) 165

82. Ifin each number the fiest and
the third digits are inter-
changed and the newly formed
numbers are arranged in as-
cending order which number

will be the fourth ?

(1) 588 (2) 165
(3) 724 (4) 637
(8) 946

83. if‘1' 15 added to the first digit
of each nurnber and ‘1" 18 sub-

tracted from the second digit,
which number will be the larg-
est ?

{1) 724 {2) 346

{3) 185 {4) ba3

{5) 637

84. How many such pairs of let-
ters are there in the word
QUICKLY, each of which has
as many letters between them
in the word (in both forward
and backward directions) as

have between them in the
English alphabetical order ?
" (1) None (2) One
(3) Two (4} Three
{5} More than three

8E. If each vowel of the word CON-
FUSED is replaced by the next
letter in the English alphabet-
ical series and each consonant
ts replaced by the previous let-
ter in the English alphabeti-
cal series, which of the follow-

ing will be sixth letter from the
lefi 2
(1T 2R
@V @4c
9) M

86. ifitis possible to make only one
meaningful English word with

the third, fifth, sixth and the
tenth letters of the word ‘IN-
STRUCTION', which would be
the second letter of that word
from the right? If more than one
such word can be formed, give
‘X as the answer, Ifno such word
can be formed, give 'Z' as your
answer.
(1} Zz
@) o
B) R
87. How many such pairs of let-
ters are there in the word
‘PROHIBITS' each of which has
as many letters between them
{in both forward and backward
directions) in the word as they
have hetween in the English
aiphabetical serieg?
{1) More than three
{2) Three (3) Two
4) One (5) None
Directions (88-89) : Sty the
following information careﬁ:lgry and
answer the questions given below :
H lI:':s.c‘::lh‘.,o,: the five friends, F, G,
. lan as a different k
13 taller than both } anddglttll-:
shorter than J. J is not the tallest.
G 15 niot the shortest. The tallest of
them all is 172 et tall and the see-
ond shortest is 160 cm tall,
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88. Which of the following 18 true
with respect to the given ar-
rangernent?

{1) Tis the third tallest among
them,

{2) Only one person is taller
than F.

{8) None of the given opHons
is true.

{4} H's height is 160 om.

{5) F's height is definitely
maore than 160 cm.

89. J's height is Bcm more than
G's height. Which of the fol-
lowing can be H's height?

(1) 165ecm {2) 172em
(3) 150em (4) 168cm
%) 170em

80. Four of the following five are
alike in a certain way based on
English alphabetical order and
hence form a group. Which is
the one that does not belong

to the group?

1) bw (2) KO
3) GT (4 FU
(6) HS

Directions (91-98) : Study the
following informatiion carefully and
answer the following questions ;

Seven dance styles namely,
Freestyle, Western, Bharatnatyam,
Bhangra, Kuchipudi, Lavani and
Disco, were performed on different
; days of the same week from Mon-
: day to Sunday, but not necessartly
in the same order. Bharatnatyam
was performed on Wednesday.
Bharatnatyam was performed afier
a gap of one day after the Western
! dance was performed. Bhangra
, dance was performed. after the La-
g vani dance style. There was only one

dance style between Bhangra and
, Lavani dance styles. Kuchipudi was
| performed on Friday. Discowas per-
.'1 formed immediately before the Fre-
) estyle dance style, - :
' 81. Which dance style was per-
? . formed on Tuesday ? .

! (1) Western dance style
i (2) Lavani dance style
{3) Bhangra dance style
i {4} Kuchipudi dance style
: {5) Nome of these

92, Which of the {ollowing dance

styles was performed on Sun-

day?

(1) Disco dance style

(2) Western dance style

{3) Bhangra dance style

{4) Frecstyle dance style

{5) None of these

Which of the following combi-

nations of Day-Dance style s

definitely correct ?

(1) Monday-Western dance
siyle

(2} Tuesday-Bhangra dance
style

(B)Thursday-Lavani dance
style

(4} Saturday-Freestyle dance
style

(5) Sunday-Disco dance style

. How many dance styles were

performed between Lavamnl

dance style and Freestyle

dance style ?

(1) Three (2) Two

(3) Four (#) One

{5) Five

Which of the following dance

styles was performed immedi-

ately after Bharatnatyam

dance style ? .

(1) Disco dance stylé

(2) Kuchipudi dance style

{8) Lavani dance style

{4) Western dance style

{5) None of these

. Directions (88-100) : Study the

following information carefully and

answer the questions given below:

Eight persons-P, @, R, S, T, U,

V and W - are sitting around a cir-

cular table facing the centre, with

equal distance between each other

but not necessarily in the same or-

der. R sits second to left of 1, Only

two persons sit between Rand T, V

sits third to the right of S. Neither

S nor V is an immediate neighbour

of U. Only two persons sit between

U and Q. W is not an tmmediate

neighbour of g.

98, How many persons ars sitting

between S and T when count-

ed from the right of T ?

(1} More than three

{2] Three {3) None

4) Two (5) One

93.

97. Who fs/are sitting cxacl.lyﬁh_;
tween U and (3 when counteq

from the rightof U ?
(1} R W @s.T
(3 P, R @ TV
G V.W
98. What 18 W's position with re.
spectto O ?

(1) Fourth to the left

(2) Third to the right

(3) Second to the right

{4) Second to the left

(5) Third to the left

09. Which of the following state-

menta is frue regarding P ?

(1) None of the given aption is
truze.

{2) P sits second to right of R,

(3)- S sits to immediate right
of P.

{4) Only three persons sit be-
tween P and U,

{5) P is an immediate neigh- -

bour of both S and T.
100. Who is sftting third to the left
of W?

== ANSWERS E

1.(1) 2.5 | 8@ 4. (&)

8.@| 7. 8. 2]

8.5 |10.0) | 1.3 | 12.©

15 0) | 140 | 35. @ | 16.)

17.02) |18.01} | 18. (9 | 20.(8)

2% (1)

22, (2) | 23.(5

28.(1) |28.2 | 27. (3

29. (2) | 30. (2}

393.(4) |82.019

7. (2

38.(3)

4L (@ | 22,4

43. (1
49. (1)

46. )
80, (1)

53.1) | 5409

B7.(1) | s8.(1)

BL(1) | 62. )

65. (1) | 683

70. 4

74. (3)

78. (1}

83. (3}
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98, (4}
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= EXPLANATIONS ==

e

1. (1} Stumble {Verb) : to hit
your foot aganst something
while you are walking: trip; fan,
Look at the sentence :

The child stumbled and fel,

g, (3) Despair (Noun) = the feal.
g of having lost all hope.
Cheer (Noun) = a shout of joy
o praise
Look at the sentences :

She uttered a cry of despair.

Agreat cheer went up from the
crowd.

7. (1) Harah (Adjective) = criel,
severe, and unkind.
Look at the sentence ;

We had to face up to the harsh
realities of life sooner or later.

10, (2) Adamant (Adjsctive) = de-

termined not to change your

mind; rigid, unyielding,
Flexible {Adjective) = able to
change to sult new conditions.
Look at the sentences :

She was adamant that she = 12_1:'3 = 172
would not come.
You need to be more flexible _ 7x 48
and imaginative in your ap- = X= =28 days
proach. 82. (1) Let the investment in
18, (4) To modify a verb, an adverb - scheme-A be Rs.
should be used. ehem _ -;-e heme.
Hence, we typically do should ~ Investment i{s £Irte-
be used. =Rs. (7200- %)
17, (2) Here, Present Simple 1.e. we Principal x Rate x Time
use to should be used. The sen- 8L = 100
:neno;a shows a general state- rding to the on,
18. (1} Here, What this (singular)
tmplies {singular) is that the X% 12x6+t7200-x}x12x2
should be used. 100 100
18. (4) The sentence shows present 4008
time. Hence, takes the docirines
seriously (Adverb) should be 72x . 7200x24  24x
used. 100 100 100
2. (1) Here, adjectivei.e, necessary = 4008
shonld be used, not an adverb. A8
2, @) Here, adjecti\res should be = — + 72 %24 = 4008
Used, 100
%.(9) Here, adjective ahould be 18
used and the clause should be = 00 = 4008~ 1728 = 2280
in Present Tense.
%_——:__ —

25. (1) Help is followed by tnfinitive
without to, That should be re-
Placed by how.,

Look at the sentences :
He knows how to swim,
He knows what to do.

31. (2) Let C complete the remain-
iIng work in x days

. . L
A's 1 day's work = 12

1
B‘slday‘swork='2j'§

1
C's 1 day's work = 28
According to the question,

= 48x=2280x 100

228

= x= _2—:-@ =Rs. 4750
a3. (4)

Area of the seating space

= % = 38.5 sq. metre

Area of circular plot = nr?

= % x21x21

= 1386 sq. metre

~ Area of the remaining part

of the circular plot

= 1386-38.5

= 1347.5 sq. metre
34. (4} Speed of frain = 54 kmph

5
= (54 KE) m/sec

= 15 m/sec.

v+ The train crosses the pole
in 14 seconds.

< Length of {rain
=15%14=210 metre '
Speed of cyclist = 7 kanph

Tx5

= ( 18 J m/sec.
Distane

* Required time = ===
- 210 - 210x18

7x5 7x5

18
=108 seconds

85. (5) Let B invested for xxmonths.

o~ A's investment = for 1.5x
months
C's investment = for 2x
months
< Ratio of the equivalent cap-

itals of A, B and C for 1 menth

= 18000 x 1.5x: 15000 x x:
12000 % 2x

=27:15:24

=9:5:8
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& BiCsbi18;
B's share = Rs. 2725

. C'sshare=Rs. [g "2725]

=Rs, 4360

30. {1) The pattern {s;
12x1.5=18
18x2=36 -
36 x 2.8 = G0
N x3=270

270 x 8,5 =

37. (2)The pattern is :
4096 + 2 = 2048
2048 +4 =K12
512+8=64
G4+ 16=4

4+ 32 = [0125]

38. (3)The pattern s :
Tx1+1227+1=8
8x2+2'=16+4=20
20x3+3%=60+9=69
69x4+4%=076+ 16 =200

292 %54 5% = 1460+25n
36.(4) The pattern Is :

1146=16

16+7=23

23+95=32

32411 =43

43+13=[56]

40, 5) The pattern is :
124+ 1x9=12+9=21
2} +2x9=2]1 + 1830
I0+3x9=39+27eé6
E8+4x9=66+36=102

102 +5x9=102 +45= [147]

41. (3)?= sts -264x;!'5-x2—8?

= J/289-33-87
= J169 =13

42. (4)P=39.8x% Tii x0.5+0.76

=1.2+0.76=1.98
=23 108 =14

1 2 3
= 5= = 45—
43. (3)? =5 x 27 + B3

62,28 62428
= 5 5 = 5
90
=5 = 18
44, {6) (0.95° x {0,095
=30y 10"

- (&) ()

=3m o 10?

52 35 2 15

et 3| —
= [10 10%
=310y 17

7 a3
= 133—5 x-i-o-? =31 107

ia™) = atmn)
37-&3
= 10968 =310y 107

= 310 x 1083 =310 ¢ 107
= 10%=a 10680 -_g.5

45. (1)?=3.5%35+2x35x6.5
+8.5%x 5.5

[(:-u-izy)2 =qa? +2ab+b2:|

=(0.5+5852=92=-9]
46. (2) Cost of 1 shixt = Rs. x
Cost of 1 trouser = Rs, y Qlet)
- Bx+ 7y =Rs. 4130 ...,...l{)
4x + 9y = Re, 4270
vena{tl)
By equation (1) x 9 - (i) x 7,

S4x + 63y
28x + 63y

26x =

= 37170
29890

1]

7280

) 7280
S XE —_26 =280

“ Cost of 3 ahirts = 280 x 8
=Rsg, 840

— i —

47. (3) Ratlo of equivalent capitalg |

of A, B and C for 1 month I 8
= 13600x12: 17600 % 8: 152008 ] .-..
=138x12: 176 xB: 152 x 8 F S
=51:44:38 c \- R
Sum of ratios = 51 + 44 + 38 y
= 10(2 :
> 38 ! ’ Ch(
~» C's share = ~57 x 46550
Cos 133 4655 am
=R5. 13300
48, {4) Rate downstream _R
126
=g kmph |
Eg C Ren
1286x 60 . _R
=43 kmaph [ Armv
1 =R
B.25 I
Rate upstream = -I-,_'i_ klﬂph | LA
60 I a
=%
826%60 .
* 15  =33kmph 8
~ Speed of cuurent =
L | 9
=5 (4233} lemph . ; 3
2 !
3 = 4.5 kinph = x
49, (1} Principal = Rs, P i “Re
; Am
terest = Re. % : som
Rate = R% per annum ; =48
Time = R years I =Rs
Ratee —3X100 . F
® = Principal x Time : —
) 100 LN
Re%*F% -
900 = (x
=T9a §2— =
=R 156 =R= = “-[I)A
80. (1) Total cost of 25 kg of rice
=Rs. (10%30+36x15) A ax
= Rs, = Ra. 840
(300 + 520) = Ra “aa,
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talSP. for a profit of 20%

840x 120

I-3 100 = RS- 1008

1008
K Rate= “25 =Rs. 40.32/kg

g @ Total savings of My,
Choubey = Rs. x (let)

40x
Amount got by his wife = oo
2x
sk- _5‘
. 2x
Remaining sum = X = —5-
Ix
=Rs, ?
Amount got by two sons
55%3x 33
= Rs. [ 500 J = Rs. -"—-100
Amount got by daughter
Sx 33x
% ~ Too
60x ~33x 27 x
BT T T
27
100 = 124200
124200x% 100
Xa —""'_"'—'—27
=Rs. 460000
Amount: received by wife and
Bons together
=460000- 124200
=Rs, 335800
82.(3) Let the number be x.
~ 8 =22x+ 48

S 22x-48=0

=22~ 24x+2¢-48=0

=x(x—24)+2{x-24)-o

S x-24) (x+2) =

"’x=24becausex¢-2
ua'm&reaofsquarc 24 x 24

*876 sq.cm

576
v Al‘&a of rectangie = e

=288 sq.em.

-24 4=20cm

* Its breadth < _%;%i =144cm

" Perimeter of rectangle
=2 {1+ b) =220 + 14.4)
=2x34.4=68.8m

54.(2) -+ Pipe A fills

tank in 27 hours.

* Time taken in ﬁ]llng corm-
plete.ly

27 5
= '—5)1— =45 hours

*- Part of tank fiiled by A and

3
g‘thpartof

Required fime = 18 hours
56. (3) Remaining quantity of nulic
= Original quantity

1. Quantity taken out )"
Totalinttial arnount

. 18 1)
- — e = 1=-=
wfi-g5) =50 (1-3)
BOx4gx4
= —W =51.2 litres

Quantity of water = 80-51.2
= 28.8 litres
Rexquired ratio = 51.2 : 28.8
=16:9

56, (3) Total weight of 32 students
=485x32=1552 ke
Total weight of 42 students
=42 {485 4+ 7.5) =42 % 58
=2352kg
Tatal weight of 10 new stu.
dents « (2352 - 1562] kg
=800 kg

800
& Thelr average weight = 0

=80kg
67. (1) Speed of train = xkmph

Relatlve apeed = (x + 7) lanph

= _;{;_r__-l-l‘;}_xEJ m/eec

300
"~ X+ 7%5 —36
18

300x18
= Te+7)xB — €
= x+ 7 =30
=x=30-7 =g_3_m/sec

58. (1) Length = metre

Breadth = bmetre .
& 20+ B) =160
= |+ b= B0 metre

Arecaofpith=(Ix3+1x3+
(b=-8) x 3 + (b~ 6) x 3) sq.metre
= (Bl+ 6~ 36} sq.meire

=8 (I + b-6) sqg.meire

= 8 {80 - 6} sq.metre

=444 sq.metre

~ Total cost =444 x 32.5
=Rs. 14430

59. (2) A 1s twice as good a work-
man as B,
Time taken byA-.xdays
Time taken by B = 2x days
1 1 1

. x'l'_z—; E—'S'
2+1 1

—

2x _2_3_
=2x=28x3
. 28x3
= X="T5 =42 days
80. (3) Amount with B = Rs, x

7x 168D
Y ‘ia' = 2 - =8~40

= 7x=840x% 10

840x10
= X= === =Rs. 1200

81. (1) Total books published :
Year 2005 = 382 + 370 4 375 +
420+ 425< 1979 thousand
Year 2009 = 322 +280+ 315 +
325+ 378 = 1820 thousang
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Required difference
= %{1972- 1620) thousand

352
=5
62. (2) Required ratic
={370 + 375) : (355 + 340}
=745 : 695
=149:139
63. (3) Average number of books
published by publisher Q

_ 2085
T8
= 339 thousand
64. (2) Total books published :
Publisher P> 2111 thousand
Publisher Q= 2035 thousand
Publisher R= 2060 thousand
Publisher § = 2302 thousand
Publisher T=s 2338 thousand
88, (1) Required difference
= 2338~ 2302 = 36 thousand
88. QI M=A<N<P=R<X
M=A=sN=PaR=X
o, M=A<N<P=RcX
Conclusions ;
1. M=X:Not true
W X M : Not true
Either Conclasion I or II is.
true,
87 BlVel=sCaT
Rx1
V<IgR
R>I=C>T
Conciucions ;
L R>V:True
II. TxR:True
88. ()D>E>C=M>B<R=0G
Conclusions ;
L D>B:True
II. G >E : Not True
49. 2)C=0gR<P>T
Conclusiong ;
L C<T:NotTrue
I P>C:True
70. () W<A>T=EgR<D
Concluclong ;
L R>W: Not True
II. A> D : Not True

= 70 thousand

(71-75) :

{i) All keys are locks — Undversal
Afiirmative [A-type): par
e locks are {rona = -
W 3%;: Affirmative (I-type).
(tif) No book is a novel — Univer-
sal Negative (E-type).
(tv) Some books are not noveis —
Particular Negative (O-type).

71. (2) All keys are locks.

Some locks are irons.
A + 1= No Conclusion

Venn diagrams of “All keys are
locks™

Locks Locks
Dr
' Keys
[ Il

Venn diagrams of “Some locks
are frons” :

Locks
or
m v '

oL

Alter combining the Venp dia-
grams Il and IV, we get

Locks
Reys

PN s o T IO A

Conclusion I does_;;;
follow. :
If one of the two Premises {5
Farticular, Universal Concly.
sion does not follow.
Therefore, the required answ,
is option (2}. : S

72. (4)

All instr%manua]s.

All manuals are rules.
A + A= A~ type of Conclu.

sion
“all nstructions are rules.”

This {5 Conclusion I.
Therefore, the required answer
is option (4).

73. (1) Some cards are papers.

All papers are books.

I+ A = I-type of Conclusion
“Some cards are books.”
This is Concluston L.

All papers are hooks.

No book is a novel.
A+ E = E-type of Conclusion |
“Ne paper is a novel.” It
Conclusion II is the Converse I
of it. !
Therefore, the required answer |
is option (1), f

74. (3) Some doors are windows. |
i
No window is a cabinet. \

1+ E = O-type of Conclusion |
“Some doors are not cabinet.”
Conclusionslandl.[fomCom- '!
Plementary Pair. Therefore, ci. |
ther Conclusign | or II follows. .
Thus, the required answer is
option (3),

(2) Both the Premises are Par-
ticular Premjges, No Conclu-

sion follows from the two Par-
ticular Premiges, '
76. (2)

Number [ Letter | Symbel |

75.
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“ fThere is only one such combg- 84. (4) 91. (2) Lavani Dance stylewas per-_
nation formed on Tuesday.

v 21 b s 11’—1% 25 | 98- (WFreesiylé Qanes style was
@ UIrcKo>LZY performed on Suncay.

77. (9) 7th to the leRt of 15th from 93. (1)The combination Monday-
the lelt end means 8th from Western dance style is correct.
the left end, l.e., 5 85. (2) 94. (3) Four dance styles-Bharat-

g8 (1) ¢C o ¥ F U s E D natyam, Bhangra, Kuchipudt

3 -, +] 1) -1 41, 1 41 -1 and Disco-were performed be-

o i RN py It BN LM tween Lavant and Freestyle

dance styles.

-T2 -5 4 =84
=B—2om-5 1 =3,],

10, ﬁ)wﬂ)fp_“syg
2 485 p 26,1
g 18y g 18y o
R 53850
Lt 7, ¢
£0. (4) According to the question,
the new sequerice would be -
PHWRE?SDH#QL %

BMe@FBETHKX®
4 ]

11%h from tight end

&L (3) 185 = 156
346 = 346
583 = 358
724 =247
837 = 367
Now,

156 <247 <[ 346 | <358 <367

82. {5) 165 = 561
345 =643
583 =» 385
724~ 427
837736

385 <427 <561 < <736

848 346
83, (1) 165 = 255
345=5 435
583673
4= 814
837 = 727
Largest Number = 814
8145724

%

B8B. (4)

12 4 789(10]11

IN T UlcTI|O] N
Specified letters = S, R, U, O

Mesaningful word = SOUR

Its seconds letter from the right
=U

87. @)

3
1

]

16 18 15 8 2 9 18
PRCI)H B I S

=3 3

(88-89) :
J>H>L G
«J 15 not the tallest.
So, F is the tallest.
Fod>H>G>1
$ J
172 em 160 em
88. {4)11s the shortest of all,
F Is the tallest.
H's heightis more than 160 cm.

95. (5} Bhangra dance style was.

performed immediately after
Bharatnatyam dance style.

(96-100) :

96. (3) T sits to the immediate left
of 8.

97. (2)S and T are siting between
T and Q. when counted from
the right of U.

98. (1)} W is sitting either fourth to
the left or right of Q.

99. (4)P sits second to the left of
R.

S sits second to the left of B,
F is an immediate neighbour

F's height {s 172 cm. of both V and g.
89. (1) H's height is more than 160 | 1€0. (5] P is sitting third to the left
cm but less than 168 cm. of W. .
J's height is 168 cm. (' |
80, (2) Except KO, all otheis are | {, — )
:)a]irs of apposite letters. LARYOUDOUBTS
(91-95) : If you have any
Day Dance Style » fusi
Monday Western Dance stylef|{ | ¢ Ie lqlvdalubt
Tuesday | Lavani Dance style @ llb]lsg'uheddmg e
Wednesday | Bharatnatyam > [P _ articles
' Dance style wieant * and other
Thursday | Bhangra Dance style b lfil(afeﬁsls in the
Friday Kuchipudi Dance 00KS an, magazines
style of KIRAN PRAKASHAN
Saturday | Disco Dence siyle share it with ’
Sunday | Freestyle Dance ason
style | Problems@kiranprakashan.com
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